Diviser des fractions mixtes négatives (H)

Nom: Date: Note:

Calculez chaque quotient.
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Diviser des fractions mixtes négatives (H) Réponses

Nom: Date: Note:

Calculez chaque quotient.

) 2§;<_2£) _ §;<_§> _ §x<_9> _<_@>_<_£)
’ 9" 10 ~ 9 "\ 10 9 26 o\ 234) 117
3 8 18 41 18 11 198
2 (-33)+(3q) = (%)= (51) = (5)x<(3) = o
6 8 20 63 20 11 220
oz (syg) = Fe(q) = Fx(g) = (i)

o 5:(w) - 5e(5) - vxm) - ) - (5)
n ) ) - (R () - (BB - o5 oaw
() (o) = ()R - ()R- wm - G 7w
o (53)+(5) - (F)F) - R m 5
v ()5 = ()5 - (Fm - () - (5)
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